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An integer greater than 1 that is not prime is called composite. If the two-digit integer n is greater than 20, is n composite?

(1) The tens digit of nis a factor of the units digit of n.

(2) The tens digitof nis 2.

[BRF)] EHEN; >0 B ERTEREH
1> n=10a+b b=xa n=10a+xa=a(10+x) &%
2> A LAzZ21 0or 29 NS

[A]
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if the operation@ a@b=a+b-ab P
A@b=B@a
| A@0O=a

Il (a@B)@c=a@(b@c)

RN BT ?

1 A@b=B@a > a+b-ab b+a-ab V
2 A@0=a = a=0-0=a V
3(a@B)@c=a@(b@c) 2 a+b-ab+c-c(a+b-ab)=a+b+c-ab-ac-cb+abc
a@(b@c)=a@(b+c-bc)=a+b+c-bc-a(b+c-bc)=a+b+c-bc-ab-ac+abc V
(11 &)



hRR

PS: 191M&E4L1

[fERE]

C R FI{ER22, KA

R

ESIEREN 191 HIFI=6—T+5519%8 ) x 9+55101=22

£510IM=22
[22]
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Percent of-. And percent of---.
N that+-- more than N that---



Word problems

* 1 rate problems

e 2 work problems:

« 3 mixture problems:

* 4 interest problems:

* 5 discount

* 6 profit

» / sets

« 8 geometry problems

* 9 measurement problems
* 10 data interpretations



rate problems EH1—KERIZER

 Rate X Time=Distance

HRE X AE=1&E > BEHMEB3

* Velocity: speed

—

t ! A wEs

R =

N A @



+PS: —PA8:00iE T —1 e, EEE80km/nh, B—A8:301d
TE—1R, BEZ9km/h, ElJLRE—1TAELERT—1TA?

u

[#ERE]
FHZE T AN ERIIEES 5 280*1/2=40 KM.
FitEB 5A EBRIRTE, IRFEEZ40KM.
40/(96-80)=2.5h.
8:3051I 7 2.5H FiE11:00,

[Z&Z=2] 11:00
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PS : IEBR—truck EE4m/s, KFE6m/s , XiftruckfEX G _ERYER
I, KZEMfontElendZZ1T front of the bump ( ? XNERIENCIZANEHT )
of the truck takes 1 min,[a] K ZE}<Z /D ?

[#2F%] ERFEERTHEE,
truck #EE V=4m/s XZE 6m/s
MEEFEFIT. KESLMtruckBYEIREIXE

EEtruckBIg1iR EEEE1min=60s

5 Truck{ii f%

] i "

FE

trainfis £

NE KE—DHEE=-XKEK+REMND
WZEK=6X%60-4%60=120m
[ZZ] 120m



rate problems &322 5HE

s B ARREMAIENER. —RIERPHFESMUAFRE. t
NEfEE; FILE, Bk,

North

/ HEEERTEA ABKEB




rate problems =813 |[I3FEH/X]

« JKRIRE or XEAY[a) &R

AR : RIFKRIEEor MR 5 EAEE
g XUNGI7K +v

WXHIK —v

R RSN



o PS: HExE
&=350m/h,

A. 200
B. 250
C. 300
D. 350
E. 400

ol = — N K HLRY E AV BT XI5 X400miles BY AR FZ1E.
o] SEhRFEMERE], EXURE250m/h, (8] KHLRE?

Kt

[ £ ]
XA S AR E ="K AR E +XIAYIERE =350 ;
XA KATLASERE =" AR E-XIAYERE =250 ;
“KATAYIERE = 300

[&2Z] 300



work problems 151 /%

e 1/r+1/s=1/h

« WERXBE=T1EE> & 1 &

- SENILIEER— M EERAHE, ATLUZAT .




1Rl &R plus

 E.g. 5EA%10, O00RYTTER A IR T{FFEE8/I5ERK, BEEAZ%2
INEF, SRAB—3ESE R YRS (E] ?

 E.g. 5tA%10,000 BYIT &, A B T{EFEZ8/bY, B EEA 22/\A,
SKAB—#c T{F4/\BHx B B IR 5T ak I R TAEFEZRYATIE] ?




[ R ]

- E.g. 5EA10, O00RYITEH A BRI T{EFRES/I\AIZER, BELAZ2
N, SRAB—35T R RIRT[E) ?

%10 O00HYITEE 21 AR T/EMIER2E1/8 B TIEERZE1/10
1= (1/8+1/10)= 40/9 hour

« E.g. 52A%10,000 BT B, A BIhT{EFHFZES/)ET, B EEA 22/ AT,
SKAB—#c T {F4/\BHx B B 05T Akl R TAEFEZRYATIE] ?

%10 O00HYITEE 21 AR T/EMIE Z1/8 B TIEERZE1/10
[1- (1/8+1/10)X 4] =1/10 =1hour




mixture problems =4

A, B AEfEK, ARKRER10% , BRIKRER20%, MEMH
10gallonfIAFI10gallonBIBR S , KESHIRIKRE?

[ #7%%]
10% X 10+ 20% X 10=3 > &k
10+10=20 >i&i&
KE=3/20=15%




AEEFakES [5I8])

* If 6 pounds of nuts that cost 1.2% per pound are mixed with 2
pounds of nuts that cost 1.6$ per pound, what is the cost per
pound of the mixture?

6X1.2+2X1.6=104 $
2+6=8
10.4-=-8=1.3



interest problems [1=Z!1]

principle X interest rate Xtime [simple annual)

e.g. If 8000%$ is invested at 6 percent simple annual interest, how
much interest is earned after 3 mouths?

$2:9
0.06 X 8000 X 3/12=120$



interest problems [1=2Z!2]

Principle X (1+r%/n)(ny) [ compounded ]
RITFZER % nATTEEAE yAFH

e.g.
If 10 0009 is invested at 10% annual interest, compounded
semiannually, what is the balance after 1 year?

[#%] 10 000 (1+10%/2)? dollars



I

*DS: —1AA, fZTamountof THI$%, Fsimple interest 6%
T —F, iUﬂEt %FéﬁBERtHFRT?T—E, X—FHY
simple mteres.tzES%o B— /\AB 77 ¥ T amount of HAY$%,
Fisimple interest 8% T —4F, 15272 ,,\FéﬁKERtH):R
7(3?? F, X—FHJsimple Interest 156%0 18X B AR ERYER
%7

1: T>H
2: t>h

[#%%E] A 1.06T*1.08 B 1.08H*1.06 F|Z=5EFFEF LLA
S HIR] AEZHIAIESES
1>S
2->1.06T>1.08HT>H S

Y ot

[&Z] D
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* In a certain animal population, for each of the first 3 months of
life, the probability that an animal will die during that month is
1/10. For a group of 200 newborn members of the population,
approximately how many would b expected to survive the first 3
month of life?

« A 140
B 146
. [ #ZFE]
C 152 200 (1-1/10) A3=146
D 162 [B]

«E 170



Discount

» 80%off discount = 20% price .

e.g.
A certain customer paid 24$ for a dress, if that price represented
a 25% discount on the original price of the dress, what was the

original price of the dress?

[ 2% ] 24=(1-25%) original price - original price=32 $



Tax and tips

k=
« N or AERMN SDMENIE or AENENIK

*E.g B—RAEMIR, H=E5%, tipsEMKBEEH (FH) HI10%,
XRA—HEZ{FT115.57], [BMB(IZIRTE T Z %2



profit =4

(gross) Profit=Revenue- Cost or Price

e.g. A certain appliance costs a merchant 30%, at what price
should the merchant sell the appliance in order to make a gross
profit of 50 percent of the cost of the appliance?

[ #2%%])] S-30=50%X%X30 -> S =45



geometry problems

* 12101

« [RBY: KRIRE X BTEAATR> FEE L a iR A

o {5120

* DS /l\L_7J<plpe MIRE2 mA3/hour ,— 1N"EERMEHSEE, [KH
WERE K, BENE, RAEMHBEEZKATE?

1 RFEFSE 7|<

2  [ERAEFmRE3IREHIK,
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A border of uniform width is placed around a rectangular photograph that measures 8 inches by 10

inches. If the area of the border is 144 square inches, what is the width of the border, in inches?

A3
B 4
C6 } X
D&

E 9

[ #7F%]

(8+2x)(10+2x)-80=144

4x2+36x-144=0 x?+9x-36=0 (x-3)(x+12)=0 HEeRI1E
x=3

[A]
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[#E2] Ps : A —Mength 10, width SHI 17, RSB E—A (Zr=1m
UMK , X centre of circle A LAIEERE—1T /R, @IEZ DR
probability that the edge of the circle doesn't exceed the rectangle?

[FRRE]
NE EeEfBEEls KRRV ES
T FHERrectangle. MHEZR=/IM<HFE
M/ KKBEFEH=(102) (82)
/(10x8)=3/5
[Z2] 3/5
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Key: AFNESITE2AZHY

A B 0 i 1 1.

Key: HFE2ATHY — e 27 K2




T - V

27.~In- the- figure: below,- segments- RS- and- TU- represent- two- positions- of the: same- ladder:
leaning .what1s the length-of TR?-

(1)Thelengthof TU1s-10-meters.- «

(2) The length-of RV 15 5 ‘meters.«

o

D

BT KERE

5K tH KT

1S 2 RVA[KRS S



measurement problems

- FRRE B AL I3 33 1R

* 1 Meter=100 cm=1000mm

* Thour=60min=3600 seconds

« 1year=365 days (common year) or 366days (leap year)
* 1 dozen=12

RF RR MERMAHRE ZIHEE AFRIEE.



measurement problems

« E.g. Atrain travels at a constant rate of 25 meter per second,
how many kilometers does it travel in 5 minutes?

e 5 min & T =5X25X60=7500 meters=7.5 meters



data interpretations

Example 1:

Population by Age Group
(in thousands)

Age Population
17 years and under 63,376
18—-44 years 86,738
45—-64 years 43,845

65 years and over 24,054

How many people are 44 years old or younger?

63376+86738=150114
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